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Note : (i) This question paper is divided into three 

Parts—Part A, Part B and Part C. 

 (ii) All Parts are compulsory.   

Part—A 

Note : Write short notes on any four of the following 

from this Part in about 150 words. Each note 

carries 5 marks. 4×5= 20 

1. Role of NGOs in consumer protection 

2. Misleading advertisement 

3. Allied organisation of FICCI 

4. Basic requirements for an organization 

5. SEBI Ombudsman–its power and functions 
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Part—B 

Note : Answer any five of the following in about 

300 words each. Each question carries  

10 marks. 5×10=50 

6. Discuss the role of National Consumer Helpline 

(NCH). 

7. What are the differences between conciliation 

and mediation ? Discuss. 

8. What is meant by campaign and advocacy ? 

Discuss the different types of advocacy. 

9. Write a note on Confederation of Indian 

Industry (CII). 

10. Write a note on consumer rights and its 

expansion. 

11. What is meant by Consumer Interpol ? Discuss 

the aims of Consumer Interpol. 

12. Discuss the strategies of effective campaign and 

advocacy programmes. 
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Part—C 

Note : Answer any two of the following questions in 

about 500 words each. Each question carries  

15 marks. 2×15=30 

13. Discuss consumer welfare fund. Explain the 

eligibility for consumer welfare fund. 

14. What are voluntary consumer organizations ? 

Discuss some of the selected consumer 

organisations. 

15. Write a note on Lok Adalatas. Discuss their 

advantages and disadvantages. Also write the 

difference between Mediation and Lok Adalat. 

16. Write notes on the following : 

(a) Impact of advertisements on consumers  

(b) Need for media and its objectives 
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